16

86

10

1.
2.
3.
4.
10.1 x2+1=0 i=v-1
X2+ x+1=0 a+hi
a+bi=0 a=b=0
a+hbi=c+di a=c b=d
10.2
(a+hi)(a—bi)=a’?+b? i%=-1 athi
( (a+bi)@a—bi)=a+b?)
a+bi crdi c—di a+bhi
c+di c+di
z x+yi Z
Z=x-yi
(€] z 2
() atz=2%2
(i) 4%-272
(iii) a4 z,#0
Z z,
) Z=p+qi a+bx+c=0 Z=p-gi
a b c
(©)] f(x) z=p (i f(x)=0
Z=p-qi
10.3
EH
m —> Jhi
z X+Yi r(cosf+ising)

Z=X+Yyi =r(cos0+isin0)
X=rcosf y=rsin®

r=x2+y? O:tan‘l[lJ 0 Xy
X

P z r z
0 z agz



66

00T

YA

P
v
Y
0
> X
0 X
9=tan’1[lj+2nn (n=0
X
1l £2 ) ( —-t<0<m )
rcis®@ r(cosd+ising)
z=2-2i |Z|=2\/§ argz _%
AY
0 1
+ —e
- ] X
4 t
'
]
[}
-1 - o -m - an "
z
R
X2 + (iy)?
=X+W Z=%+W, P P P P

z+2

2 Ps 4+% OP;P,P;



104 2 7 =r(cosO, +isin6;) 2z, =r,(CosO, +isinG,)

[ cos(0; +0,) +isin(0y +0,) | rirs 0, + 6,

|2122| =|21||22| ay(zz)=agz +agz,

r(cos0+isin0) r 0
=22 O A 1 OAR  OPP

z % z1=2%Z r(cosO, +isind;)
=r,(c0S0, +isinO,)r(cosd +isino)

=r1,r [ co5(0, +0) +isin(0, +) |

n al|_|4 4
Zl=r=— agz=0=0,-6 —|=1— ag—=agz-agz
jd=r=1 a9 1- 6 L] 95, -aa s
OAZ1 Z, Z3 OlZ]_sz 02223
0Z:A =2
4
10.5 4
(€] |z+]4=|z—3| z=-1 z=3
z=x+iy X 'y
|x+iy+1|:1/(x73)2+y2
(x+1D2+y? = (x=3)2+y?
2X+1=-6x+9
x=1
|z+1=|z-9 -1 z 3z
@ |z-z|=4 z 4

@ |z-2+|z+2=6 2 -2




0T

€0t

@ | |z-5]|-|z+5] |=6 5 -5l

(5) agz=nx
T T
6) ag(z-z)=— Z =
(6) o( ) 3 1 3
zZ-z % z
z-2 2
' 3
y A .
s
b9
A3 R
0 X
z-7z | w T
ag| ——|=— ag(z—z)—agz—z,) =—
™ 9[2_22] > 9z-z)-ag(z-2)=-
Z,
-, 7 9
0 1
/ﬁ & LA
(¢
ag(z-z)=6, ag(z-z)=6, 0,-6,= at Z
.z z =z )

106 3 (cos®+isin®)" = cosnd+isinnd n

0530 +isin30 = (cos0+ising)®

c0s30 = 4cos’ 0 — 3cosH
sin30=3sin0—4sin®0

z=cos0+isin® z”—in:Zisinne sin°0
z

5
(2isine)5=(z—1j
z

25isin59=(z5 —isj—5(z3—i3)+10[z—1j
z z z

sin56=%(sin59—55in36+105in6)

1
2" +— =2cosnd
Zn

" il 2isinng
Zn




0T

S0T

n m=-n

(cos®+isin®)" =(cos@+isin@)™™
_ 1 _ 1
- (cosB +isin®)™ " cosmp+isinmp
cosmd—isinmd
——
=cosnf+isinnd

= cos(—mB) +i sin(—mp)

n £ b q q q
q

cosf+isn® g cosPo+isnPo
q q

P
(cosd +ising) "
P
(cose+isine)q cos[£9+&1+isin(£e+2—kn} k=0 1
q q q q

2 q-1
1071 n 1
7% =1=cos2kn +isin2kn k=0 1 2
2n . . 2¢n 4 . . 4n
z=1 cos—+isin— cos—+|sm?
P SRR QIVEP
2 2 2 2
1 0o o 1
1 o’=1
) l+o+®’=0
@) (©)=o'=0
4) l=m3:m6:--- m:w4:0)7=-.. 032:0)5:0)8=...
1
Ay
2n 2n
3 \3 N
-1 }Z_n 1 X
3
1 n oosz—kn+isin& k=0 1 2 n-1
n n
(1) k k=n 2n
k=0 k=n 1 k=1




90T

17

4

®)
(6)

32

n k n b
2
2 -1=(z-D(z+) Z"-1
n z=1 z-1
a a(cos2krn +isin2km) n
\?E(cosﬁﬂsin&j k=0 1 2 n-1
n n
5 2 2cosZ+isint| 2 cosPisin
5 5 5
n

z=r(cos0+isino)

k=0 1 2

1 1
n ;( 0+2kn . . 9+2kn]
zZ =T COS +1sn
n n

n-1

4n

:)




	教?建?
	教?建?
	教?建?
	教?建?
	教?建?
	教?建?
	教?建?
	教?建?
	教?建?

